1833<p_ <2037

0.08

2852<p_<30.56

0.07

0.06

0.05

0.04

0.03

0.02

0.01

IIIIIIIIIIII*IllllllllIIIIIIIIlIIIIlIIII

=)

12 14 16 18

38.70<p_ <40.74

0.08

2 22 24
1/cosH

0.08

0.07

0.06

0.05

0.04

0.03

0.02

H—— -

0.01

Illlllllllll*llllllllIII|IIII|IIII|IIII

0III|III|III|III|III|III|III|I
12 14 16 18 2 22 24

1/cosd

=

48.89 < P, < 50.93

0.07

0.06

0.05

0.04

0.03

0.02

0.01

i

16 18

22 24
1/cosB

0.08

0.07

0.06

0.05

0.04

0.03

0.02

—
L
=

0.01

iIIIIIIIIIIIIIIIIIIIIIIIIIIII
01 12 14 16

18 2 2.2 2.4
1/cosH

T[T T T T [T T LE[ T T T T [T T T T[T T T T TTTT
T T <Pt T T T




